

25.02.2022

June 17.

2481

$$w) f(x) = \frac{1}{x} (3 - \sqrt{x})$$

$$f'(x) = \frac{d}{dx} \left(\frac{1}{x} (3 - \sqrt{x}) \right)$$

$$f'(x) = \frac{d}{dx} \left(\frac{3 - \sqrt{x}}{x} \right)$$

$$f'(x) = \frac{\frac{d}{dx} (3 - \sqrt{x}) \cdot x - (3 - \sqrt{x}) \cdot \frac{d}{dx} (x)}{x^2}$$

$$f'(x) = \frac{-\frac{1}{2\sqrt{x}} \cdot x - (3 - \sqrt{x}) \cdot 1}{x^2}$$

$$f'(x) = \frac{\sqrt{x} - 6}{2x^2}$$

$$p) f(x) = 2(x-1)(\sqrt{x}-1)$$

$$f'(x) = \frac{d}{dx} (2x\sqrt{x} - 2x - \sqrt{x} + 1)$$

$$f'(x) = \frac{d}{dx} (2x \cdot x^{\frac{1}{2}} - 2x - \sqrt{x} + 1)$$

$$f'(x) = \frac{d}{dx} (2x^{\frac{3}{2}}) + \frac{d}{dx} (-2x) - \frac{d}{dx} (\sqrt{x}) + \frac{d}{dx} (1)$$

$$f'(x) = 2 \cdot \frac{3}{2} x^{\frac{1}{2}} - 2 - \frac{1}{2\sqrt{x}} + 0$$

$$f'(x) = 3\sqrt{x} - 2 - \frac{1}{2\sqrt{x}}$$

251

$$m) f(x) = \frac{x^3}{3} - 2,5x^2 + 6x - 1$$

$$f'(x) = \frac{d}{dx} \left(\frac{x^3}{3} - 2,5x^2 + 6x - 1 \right)$$

$$f'(x) = \frac{d}{dx} \left(\frac{x^3}{3} \right) + \frac{d}{dx} \left(-\frac{5}{2}x^2 \right) + \frac{d}{dx} (6x) - \frac{d}{dx} (1)$$

$$f'(x) = \frac{1}{3} \cdot 3x^2 - \frac{5}{2} \cdot 2x + 6 - 0$$

$$f'(x) = x^2 - 5x + 6$$

$$p) f(x) = x^5 - 10x^3 + 40x$$

$$f'(x) = \frac{d}{dx} (x^5 - 10x^3 + 40x)$$

$$f'(x) = \frac{d}{dx} (x^5) + \frac{d}{dx} (-10x^3) + \frac{d}{dx} (40x)$$

$$f'(x) = 5x^4 - 10 \cdot 3x^2 + 40$$

$$f'(x) = 5x^4 - 30x^2 + 40$$

$$g) f(x) = \frac{1}{x} + 9x$$

$$f'(x) = \frac{d}{dx} \left(\frac{1}{x} + 9x \right)$$

$$f'(x) = \frac{d}{dx} \left(\frac{1}{x} \right) + \frac{d}{dx} (9x)$$

$$f'(x) = -\frac{1}{x^2} + 9$$

$$g) f(x) = \frac{4}{x} + 25x - 6$$

$$f'(x) = \frac{d}{dx} \left(\frac{4}{x} + 25x - 6 \right)$$

$$f'(x) = \frac{d}{dx} \left(\frac{4}{x} \right) + \frac{d}{dx} (25x) - \frac{d}{dx} (6)$$

$$f'(x) = -4 \cdot \frac{1}{x^2} + 25 - 0$$

$$f'(x) = -\frac{4}{x^2} + 25$$

252

$$u) f(x) = x^3 - 6x^2 - 63x - 2$$

$$f(x) = \frac{d}{dx} (x^3 - 6x^2 - 63x - 2)$$

$$f'(x) = \frac{d}{dx} (x^3) + \frac{d}{dx} (-6x^2) + \frac{d}{dx} (-63x) - \frac{d}{dx} (2)$$

$$f'(x) = 3x^2 - 6 \cdot 2x - 63 - 0$$

$$f'(x) = 3x^2 - 12x - 63$$

$$p) f(x) = x^3 - 12x + 56$$

$$f'(x) = \frac{d}{dx} (x^3) + \frac{d}{dx} (-12x) + \frac{d}{dx} (56)$$

$$f'(x) = 3x^2 - 12 + 0$$

$$f'(x) = 3x^2 - 12$$